CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD PPE REPORT 2017-18

DISTRICT: 147 VOLUNTOWN

PER-PUPIL EXPENDITURES

CODE	SCHOOL NAME	FEDERAL FUNDS	STATE, LOCAL AND OTHER FUNDS	TOTAL
1470111	Voluntown Elementary School	529	17,756	18,286
TOTAL DIS	TRICT EXPENDITURES	372	17,847	18,219

November 22, 2019 CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD EXPANDED PPE REPORT 2017-18

DISTRICT: 147 VOLUNTOWN

PER-PUPIL EXPENDITURES

CODE SCHOOL NAME	EXPENDITURES PUPI	LS FED	ST/LOC	PRI/OTH	SCHL PPE	CENTRAL	TOT PPE
1470111 Voluntown Elementary School	3,766,650	276 529	13,118	0	13,647	4,638	18,286
TOTAL SCHOOL EXPENDITURES	3,766,650	276 529	13,118	0	13,647	4,638	18,286
DISTRICT CENTRAL EXPENDITURES	1,280,191	276 0	4,638	0		4,638	
OUTPLACED/OUT OF DISTRICT PUPILS	2,113,029	117 0	18,060	0			18,060
TOTAL DISTRICT EXPENDITURES	7,159,871	393 372	17,847	0			18,219

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY FUNCTION REPORT 2017-18

DISTRICT: 147 VOLUNTOWN

PER-PUPIL EXPENDITURES

CODE	SCHOOL NAME	LOW GRADE	HIGH GRADE	ENROLL	PCT HI NEED	INSTR- UCTION	SUPPORT SVCS	IMPROV INSTR	LIBR SVCS	SUPPORT INSTR	SCHOOL ADMIN	PLANT OPS	TRANSP NOTHOME	ENTERP OPS	MINOR CONST	TOTAL	
1470111	Voluntown Eleme	PK	08	276	34	9,353	1,712	54	384	935	1,209	0	0	0	0	13,647	

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY OBJECT REPORT 2017-18

DISTRICT: 147 VOLUNTOWN

PER-PUPIL EXPENDITURES

CODE SCHOOL NAME		HIGH GRADE	ENROLL	PCT HI NEED	SALARIES	EMPLOYEE BENEFITS	PURCH SVCS	SUPPLIES	PROPERTY	OTHER	TOTAL
1470111 Voluntown Elementary Scho	PK	08	276	34	10,641	1,881	901	172	21	31	13,647

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY FUNCTION REPORT 2017-18

DISTRICT: 147 VOLUNTOWN

			PUPIL	
FUNCTION	EXPENDITURES	PUPILS	BASIS	PPE
INSTRUCTION	4,768,153	393	1	12,133
SUPPORT SERVICES - STUDENTS	481,467	276	2	1,744
SUPPORT SERVICES - INSTRUCTION	378,924	276	2	1,373
SUPPORT SERVICES - GENERAL ADMIN	261,888	276	2	949
SUPPORT SERVICES - SCHOOL ADMIN	333,672	276	2	1,209
CENTRAL AND OTHER SUPPORT SERVICES	101,369	276	2	367
OPERATION AND MAINTENANCE OF PLANT	358,713	276	2	1,300
STUDENT TRANSPORTATION SERVICES	428,542	399	3	1,074
FOOD SERVICES	20,985	276	2	76
ENTERPRISE OPERATIONS	26,160	276	2	95
MINOR SCHOOL CONSRUCTION	0	276	2	0
TOTAL	7,159,871	393	1	18,219

EXPENDITURES EXCLUDE FOOD SERVICES NOT FUNDED BY LOCAL FUNDS, DEBT, CAPITAL (OTHER THAN MINOR SCHOOL CONSTRUCTION AND EQUIPMENT), ADULT EDUCATION, COMMUNITY SERVICES, AND STATE CONTRIBUTIONS TO TEACHERS RETIREMENT. ALL AMOUNTS INCLUDE REGULAR AND SPECIAL EDUCATION. PUPIL BASIS

1 - ENROLLMENT PLUS OUTPLACED PUPILS

2 - ENROLLMENT IN DISTRICT SCHOOLS

3 - TOTAL PUPILS TRANSPORTED

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY OBJECT REPORT 2017-18

DISTRICT: 147 VOLUNTOWN

			PUPIL	
OBJECT	EXPENDITURES	PUPILS	BASIS	PPE
SALARIES	3,539,404	276	2	12,824
EMPLOYEE BENEFITS	712,891	276	2	2,583
PURCHASED SERVICES	563,599	276	2	2,042
TUITION	2,113,029	117	4	18,060
SUPPLIES	208,005	276	2	754
PROPERTY	6,674	276	2	24
OTHER	16,267	276	2	59
TOTAL	7,159,871	393	1	18,219

EXPENDITURES EXCLUDE FOOD SERVICES NOT FUNDED BY LOCAL FUNDS, DEBT, CAPITAL (OTHER THAN MINOR SCHOOL CONSTRUCTION AND EQUIPMENT), ADULT EDUCATION, COMMUNITY SERVICES, AND STATE CONTRIBUTIONS TO TEACHERS RETIREMENT. ALL AMOUNTS INCLUDE REGULAR AND SPECIAL EDUCATION.

PUPIL BASIS

- 1 ENROLLMENT PLUS OUTPLACED PUPILS
- 2 ENROLLMENT IN DISTRICT SCHOOLS

4 - OUTPLACED PUPILS

November 22, 2019 CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES OUTPLACEMENT PPE REPORT

DISTRICT: 147 VOLUNTOWN	2017-18						
TUITION TYPE	EXPENDITURES	PUPILS	PPE				
TUITION FOR DESIGNATED HS	1,561,035	100	15,610				
TUITION FOR INTERDISTRICT MAGNET	38,970	6	6,495				
OTHER PUBLIC AND PRIVATE TUITION	513,024	11	46,639				
TOTAL TUITION	2,113,029	117	18,060				